(48410 ;P

ik il sz [ | %
=N
B W 2 =
=N,
1. kFiaz{E
(1) &Nk Fv b5
AARI - _(§5400) M1OX16mm M. ke 178
AR b (85400) M12X16m M/ ke 159
FAR)L b (35400) M10X20mm M. ke 7
AfaA - (55400) M12X20mn M. ke 5
ARl - (85400) M14X20mm M ke 74
A b (85400) M16X20mm M. ke 132
AR+ (854000 M1O0X25mm M./kg 78
ARl ($5400) M1Z2ZX25mm M. ke bE
ARl b (85400) M14X25mm M. ke 74
AAFIL kb (85400) M1 6X25m B ke 132
FS AR+ (5854000 MI10x30mm H.7kg T
AR (85400) M12X30mm M. ke 3
FAFL b (55400 M14%X30mm M. ke 74
AR (85400 M16X30mm B ke 132
AAERIL b (85400) M2 0X30mm M. kg 3
AT R (55400) M22x30mm M. ke 3
AAFN b (35400 M24xX30nm M. ke 4
AR b (85400) M10X35mm M. ke 178
Famdl b (35400 M12xX35mm M. ke 159
AR (§5400) M14%X35mm H.kg 174
AATIL (5400 M16X35m A ke. 132
AR (85400) M20X35mm M. ke 132
AAFRL - (8400 M22X35mm M. kg 137
Ff R b (35400) M24X35m M. kg 142
AfAFNLE (5400 MIOX40m A ks 178
AR b (85400) M12X40m M kg /
AARIN R (55400) M14X40m M. kg 174
AATIL N (85400 M1 6X40m A ke 132
AR L (85400) M20X40n M. kg 1
AN {(55400) M22X40m F. ke 1
AR b (85400) MiOX45m M. kg 1
AfAIL L (55400) M12X45mm M. ke /
AEAR L b (55400) M14Xd5m A/ ke 4
/AN (85400) M16X4 5 A.~ ke 2
AEFN b (58400 M18X45mm A ke 7
AP b (85400) M20X45m M. ke 132
kk16i% I ER i s 1/14
(Bif = [9)
Y A [Ty M— ki e
AR (55400) M22X%X45mm 5/ ke 137
AAA ~ (585400) M24X45mm B ke 142
AR - (55400) M10X50mm Bke 178
AARN - (55400) M1 2X5 0on B ke /
AR (§5400) M14x5 0o [, ke 174
FAFN - (55400) M1GX50nm B ke /
ARRN - ($3400) M1 8X50mm M/ ke 227
AR b (55400) M2 0X50mn M./ke /
AEAIN - (§8400) M22X5 0an M./ ke /
FAAUL b (58400) MZ4X50nn H/ks /
BRIl b (S5400) M3 0X5 0nm M. ke 184
ALl kb (55400) M1 0X55m M. ke 178
AEFI B (§5400) M12X55m M. ke /
AR b (55400) M14X55m H./kg 174
AfAFI b (55400) M16X55mm M ke
FAaAIL F (584003 M18X55mm M./ kg
FBR) (55400} MZ0X55m M. ke 3
FAAIL b (85400} M22X55m M/kg 137
AAEFN T (554003 MZ24X55mm M ke 42
AR R (55400} M3 0X55emm M./ kg 94
FAFEN (55400 M1 O0X6E Omn M. ke hi
AU b (85400) M12X60mm M. kg /
FRAERN b (55400} M14xX60mm M. ke 174
Amd)l b (85400 M16X6 Omn ke /
AR (85400) M18x60mm M ke 227
FAFNL b (85400) M20X60m M ke /
AEFN - ($5400) M22%60mm A ke /
AHAN - (85400 M24X6 0mm B ke /|
AAFI (58400 M3 0X6 0mn M. ke 194
ATV L (55400) M36X60mm [ ke 217
AR F(55400) M10XG6 5 M. ke 1781
RADI (55400 ML Z2X65nm A kg /
AR+ (S5400) M1Id4 X650 B ke 4
AADRN R (55400) Mi6X65em M. kg 2
AR (55400) M18X65m MA.ke 7
FA A b (5540D) M20X65m A kg 132
AAHN b (8540D) M22X65m A. ks 137
AEFN b (55400) M24X65m M/ ke 42
AEFNE (53400 M3 0X5 5mn M. ks 4
AL b (55400) M36X65nmm M. ke 7
kk 16 IEL ] ds 2/14

159



(EiM ; M)

2% s P73 Se—— ER o

AR R _(55400) M10X7 Omn B/ ke 178
FEAIL b (55400) M12X70mm M-k /|
FAAFN b (85400) M14X70m M/ ke 174
AR (55400) M16X7 0mn H/ke /|
AR R (55400) M18X70m M. ke 227
7o)l b (85400) M20X70m [./ke /|
AR b (55400} M22%X7 0mn A ke /|
o k(384003 M24X7 Dmn M kg /
Fofa A (854003 M3IOX70mm A ke 194
ANV (55400} M36X70mm A ke 217
Fofa il b (55400) ] M1OX7 5Son M. ke 178
AFRL - (55400) M12X7 5na M/ ks 59
FaPL k(554000 M14x75mm B/ ke 4
BRI (554000 MI6&6X75m 5. ke 2
A (55400) MIBX75m [/ ke 227
Fofnil b (S5400) M20X75m B/ ks 132
AR (55400) M22XxX75mm . M. ke 37
Ak (55400 M24X75me M. ke 42
AARN b (55400 M30X75mm M. ke 94
AT (55400) M36X75mm FH.ks 217
A E (55400 M10X8 Ome A/ke 208
AR B (55400) M12X8Opm M/ks /
BN+ (55400 M14X80mm M. ke 202
AERNL T (55400) M16X80am H./kg /
AAad b (58400) M18X80nm B/ ke 227
AEFIL T (58400) M20X80nmm M.~k /
AL+ (55400) M22xX80m ke /
AR - (55400) M24X80mm A/ke /|
A b (55400) M30X80mm A/ke 184
FEAIL b (85400) M36EXE80mn M. ke 217
)y b (85400 M42X80mm M. ke 240
ARk (85400) M10X85mn A kg 206
AEA)V b (554003 M12X85mm 4. kg /
AN b (854000 M14X85nm M. ke 202
AEEN R (55400) M16X8 5hmm M. kg

Fofad)l k(554003 M1 B8XBS5m Bke

|- (55400) M20X85m [0, ke

AT (55400) M22X35m A./ke 137
AAEFN R (55400 M24X85m A/ ke 142
F~Aw)l b (55400 M3 0XE5mm H.ke 194

kk1GHEHRER [H.x1s 3/14
(HifH : 1)
B Bts ¥ FrErm 32 fii
FERE(55400) M10OX9 Omm M. kg 206
AR (85400) M12x908mm M. ke -/
ABAI L (554000 M14X9 0nn B ke 202
ALk (55400 M16X90m B ke /
)l b (55400) M1 8XSCme M.~ ke 227
Afd) b (55400) M20X%90mn M. ke /
AR b (55400) M22X50m B.~/ke /
AN R (55400 M24X90mm MA/ke /
~EENE (R500) M3 0X85 0o H./ks 194
AR (85400 M3 6 X5 0mm 1/ kg 217
AR+ (55400 M4 2X9 0an M. ke 240
AR (55400 M10X100mm B ke 208
7AE) (85400) M12x100mm M. ke /]
RN b (85400) M14X100m Mm. ke 202
PV - (55400} M16X100mm P~ kg /
AARN {55400} M18xX100m M. ks 227
FeRi k(554000 M20Xx100m H. ke i
AAFV b (55400} MZ22X100m M ks /
AR (55400) M24X100mm M/ ke /|
AEFL L (55400 M2 010 0nm M. kg 94
FAFN - (55400 M3&6X100em A/ ke 17
AT (55400 M42X100mm M. ke 40
RN b (55400 M48X100m M. ke 277
FAEEN B (55400) M1O0X110nmm R.~ke 06
AR (§5400) M12X110m B ke 08
AR b (55400) Midax110mm H./ke 02
AL+ (55400) MI16X1]0me M. ke /
AR - (55400) M18X110m M. ke 237
AEB) - (55400) M20X110mn H/kg /|
ik _(85400) M22X]110mn M/ ke 37
AEARN R (55400) M24X110wmn M. ke 42
AEFN k(554003 M30X11QOma M. ke 94
AfERN (55400 M36EX110m M. ke 17
AEFINE (554003 M42Xx1310m M ke 4
AARN (55400 MA48X110m M. ke T
FAS)L bk (55400 M10X120mm A ke 0
AR b (554000 - M12X120mm M. kg /|
AR R (55400) M14X120mn M.ke 202
AR (55400) M16X120mm M. kg /|
AAEFI - (55400) M18X120mm B. ke 227
kk 16t IR fh x5 4/14

160



(BLEM ; £9)

161

BE Ris P — EH e
AERIN (55400} M20X120Can B.ke /)
AERN - (55400) M22X120m B./kg /
AN (85400} M24X120m M. kg /
FRAAIN b (55400} M30x120ma M/ ke 94
AFL - (55400} M36X120m M. kg 17
Bk (55400} M42x120m M/ ke A0
AL~ (55400 M48X120m H./kg 271
AL R (55400) MI10xX130ma M. ke 1]
AR B (8540D) M12X130m M/ ke 08
AR (55400) M14X130m B/ ke 02
AL R (55400} M16X130m M. ke /
AATILE (55400 M18X130m M. ke 227
AAFI)F(85400) M20X130m M/ ke /
AR B (55400) M22X130m M. ke 137
AR E_(55400) M24xX130m H-kg 142
AHAL b (55400) M30x130m M. ke 94
AAFILF(85400) M36X130m M./ks 17
AL (55400) M42x130m A ke 40
AR R (55400) M48X130m q/kg 217
AEf L b (55400) M10xX140m A ke 206
AR R (55400) M12X140m M./ke /|
7L E(55400) M14x140m A ke 202
FAAE (85400 M16X140m H/kg /|
FefL b (55400) M18x140m M. ke 227
AR B (55400) M20X140m M. ke /
- AAFL R (55400 M22X140m M. ke 137
AR E (85400) M24X140m A ke 142
AAFILE (55400) M30X140m M. ke 94
AR B (85400) M36X140m M. kg 217
AR - (55400) M42X140mm H./ke 40
AR E(55400) M48X140m A kg 2717
AR B (55400) M10X150m M.ke 208
A% b (55400) M12xX150m A ke /]
AR (85400) M14X150m A ke 202
AL E (55400) M16x150m M. ke /
ALk (55400) M18X150mm M. ke 227
AR (55400) M20X150m M. ks /|
AN b (55400) M22X150m A/ kg /
FHAFI (554000 M24x150m M. ke /
SARNL - (55400) M30X150m M/ ke 194
kk16HEIEER xS 5/14
(B4 2 M)
Py i Wi s L2 %
&R b (55400) M36X150m m./ke 217
AN (55400} M42xX15Gm H/ke 240
FAaHIN - (554003 MA8X150m A.keg 71
AR~ (55400} M10X16Qm ke 1]
AERN L (554003 M12X160m M. ke 08
PN (55400} M14X160m H/kg 202
AfAN (55400} M16%X160m A/ ke 78
AEBIN b (554003 M18X180m MH./ks a8
AR b (55400) MZ20X160mm ZkE 79
PRI (85400) M22xX160mn H. kg 184
AEFI b (554003 M24X16 0o M. ke 194
BN (55400) M30X160m M. kg 194
SETIE(55400) M36X160me M./ ke 217
7PN (55400) M42x160m H.kg 240
AL K (85400) M48X16 Cme B/ ke 77
ATl b (55400) M10X170om M./kg 06
AL b (554000 M12X170mn M. ke 08
AARN (55400 M14X170m H.7kg 202
AL b (55400) M16X170m M. ke 78
AL R (SS400) M18X170m M./ke 98
PR b (55400) M20X170mm M ke 79
~AAFRN (55400 M22X17 0mn M/ kg 184
AA3N (55400 M24X170an B ke 194
AAaFNLE (55400 M30X170m B ke 4
ABFI b (55400 M36%170mn H/kg i
AALN T (55400 M42X17 0 B ke 40
AARIN T (55400 M4 8X170nm M./kg 277
AR (53400) M10X1RB{mm B./%s 06
AAFI L (55400) M12X180m B ke 08
AEANE (55400} M14X318Onmm M. kg 12
AR (55400) M16X180nmn B/ ke 178
AmEN T+ (55400) M18%X180mm M. kg 198
FEaR)L+ (55409) M20X18 0m B/ ks /|
AR b (584003 M22X180m H. kg /
ARAFI P (55400 M24X180mn M. kg /
AR b (85400) M30X180m M/ ke 194
AAF)L k (55400) M36X180mn B kg 217
AL (85400) MA2X18 0 A/ ke 240
Ay b (85400) M48X180mn B.ke 271
AR b {85400 M10X100m ./ ke 206
ki1 6HR 2R s 6/14



(BT 2 P}

i

Pt Bz Bfir ZA1H w®E

7oA - (55400) M12X150m B ke 208
AHFEN - (55400) M14X190m A/ ke 202
AAFIN P (554003 M16X190m Hks ]
AAENL T (S540ID M18x190m M./ ke R
ABAV(S5400) M20X190m M ke ]
FEEN (55400 M22x190m M. ke 184
AR E(55400) M24X190m M. kg 194
FSAERIL b (S8400) M30x1950m M. ke 194
7Rl F_(55400) M36X1950m A/ ke 217
AL b (55400) MA42X190m M./ ke 240
AARIE (55400 M48X150m M.k

AR b (55400) M1l10x200pmm B ke

FifadlL B {55400) M12X200m M. ke

Fofafjl k(854000 M14X200m A ke 202
AARLE (55400 M16X200m A/ ke 173
FAERL b (55400 M18X200m M. ke 195]
F#fad L F (55400 M20X200m M. ke /
FofAl (85400 M22X200m M. ke /
AR (55400 M24X200m A.~ke /
AERL b (55400 M30X200m A ke 94
Afgdsl b (55400) M36X200m M./ ke 17
Fofgd)l b (55400 MA2%x200m M. ke 40
AR (55400 MABX200m M. kg 77l
AR (55400 M42%x220m M. ke 40]
7Rl (554000 M48X220m A ke 77|
Fomml)l b (354000 M42X240m A ke I
AEFA (55400 M48x240m A,k 7l
AN b (55400) M42X260m B ke 40]
ARBAL R (58400 M48X260m M kg 71
I k(85400 M42X2R0m M. ke 240]
BT (55400) MABX250m A kg 71
AAENE (55400) M42X300m Pl ke 4g
Fofaail (554000 M4 8X300m A ke 77
AAHRN R (SU5304) MEX2 0mn A.” ks 64
Ffam ) b (SUS304) M10X20mn A ke 661
7ifatl - (SUS304) M12X20an [k 662
FLERJL k- (SUS304) ME&X 2 5m M. ke [
ARV (515304} M1 0X25mm A/ ks 5
At b (SIS304) M12X25mm M./ ke 3
7Bl (SUS304) M16X25am M kg 17

kk16HEIREE M xis 7/14
(8440 M)
B P T ZE %z

Fofad )l - (SU5304) M8x3 0 M. kg 665
AN b (SUS304) M10X3Omn M./ ke 661
AR (S15304) M12X30m Mk 2
AmAILF (5US304) M16X30mn H. ke 3
L~ (SUS304) M8X35m A kg 0
AT (SU5304) M1OX35m ke 652
ARATINE (S15304) M1 2X35m M. ks 4
AEATFNE (SU5304) M16X35mm M. ke 5
AN (SIS304) MEX40mm Lke 3
7fAaE) b (SS304) M1 0X4d0m H./ke 662
RARILE (SI5304) M1 2X40m M. ke 2
AL b (STS304) M16X40m 1./ ke ]
BRI (5US304) M20X40m . ke 5
AR b (SUS304) M8x45an M. ke 662
BRI (5U5304) M1 0xX45mm M. ke 3
AL E(ST5304) M} 2X45m M. ke 2
AATNF_ (505304 M1i6X45m A ke 3
7SRV b (SUS304) M2 0Xd45mm B ke 4
AARIF (SU5304) M8 X5 0mm B/ ke 66
A k(15300 ML0X50m 7. ke

AfAFI F_(S05304) M12X50mm M ke

AATL F_(505304) M16X50mm B ke

AARN - (S05304) M20X50mm B ks 664
AR~ (SU5304) M8X55m M. ke !
AAFIL (515304 M10%55m [ ke

FAIL T (505304) M12X55m0 M ke

AR (SUS304) M16X55mm B ke

AL (SU5304) M20X55mm P ke 665
AAR T (SU5304) MB8X60m B ke

AAFIVT_(SUS304) M10X60mm M. ke 4
AARIL b (S15304) M12X6 0 MF./ke 4
P s (SU5304) M16X60mm B/ ke 7
RARN - (SU5304) MZ0X608m M. ke 664
SR b (SUS304) MB X6 5m M ke

AR b (S15304) M10X65m M/ ke

FF . (S18304) M12X65m M kg

AR b (SUS304) M16X65om M./ ke 616
Al b (SUS304) M20X65mm M.kg 665
~ad)k (S15304) M8 X7 0mn A ke 52
ZAfFN b (SUS304) M10X70nmn M. kg 63

Kk 118HR SR i 10s B/14

162



(B4 ;M)

o s [T N— K e
AR b (S05304) MI2Z2X70mn B ke 4
At b (808304) MIBX70Onm . M. ke
AAF b (S05304) M20x7Omn M. ke 4
AfR b (S05304) M8 X7 5on B ke £3
AfF)L b (505304) MIOX75m B ke F
AR b (SU5304) MI2X75um M. ke 4
AfaL b (808304) M16X75m M./ kg 7
ARk (515304) M20X75m M. ks [
AATL b (SUS304) M8X80mn A/ ke 3
AR~ (SU5304) Mi10X8Oor A ke 3
A AA b (s05304) M12X80m M, kg 3
A falp b (SUS304) M16X80m M. kg 617
IV R (508304) M2 0X80m A/ke 4
AmAL b (8US304) M]10X85m 4/ ke 3
A/RNE (SUS304) M12x85m M. kg 3
Al - (S1S304) M16X85m M. kg 617
FEAEN R (BUS304) M20XB5mm M./ ke 4
AfFRI - (SUS304) M8 X9 0mm M. ke 4
AR+ (SIS304) M10x50m M. ke
AL+ (808304 M12X00mn M. ke 665
AR (S15304) M16 X9 0nn B/ke 7
FfaAsL b (SUS304) M20X9 0 M ke 4
ARl b (505304) M8X100mm M. ke 1
AmaA)L bk (SU5304) M10X%1 00D M. ke 664
Al b (SUS304} M12X100nm A./ke 4
AL+ (505304} M16x100mm M. ke i
AARI b (SUS304 M20x100mm ./ kg 4
M) - (SUS304) . M10%35mm M./ ke 1, 500
Al b (SUS304) M12X35mm M. ks , 940
)L - (SUS304) M16X35mm F./ke , 080
M b (S0§304) M10x%40m M. ke . 550
M~ _(SUS304) M12X40m M. kg 1. 810
maAs N~ (SUS3nd) M1EX4 0mn A/ ke 1, 880
MmN b (SUS304) M10X45mm M. kg 1, 470
L - (SUS304) M1 2X45nm M. ke 1. 820
M4 - _(S1S304) M16X45m M.~ke . B8
ma b (SU5304) M10X50m M./ ke 450
mak)L b (S05304) M12%50m M/ke , 40
Ml (S[5304) M16X500m B-ke 1. 830
MR) (505304) M10X55mm B/ ke 1. 570
i1 638 2R x1s 9/14
(B4 : M)
B "% [T e m— R e

M)+ (SUS304) M12X55mm H/ke . §30]
maA L+ {SUs304) M16X55mn H./ke . 870
i)l b (SUS304) M10X60ps M.k . 530
M)k (SUS304) M12X60es ke L1
Mas)l b (S05304) M16X6E0mm B/ke 17

)b (SUS34) M10X6E5m M. ke 15
MaR)) b (SUS304) M12X65m M ke 1, 710
AR~ (SUS304) M16X65m A ke LT
mAN (Sus3od) M1OX70m A/ke .4
MmN~ (SUS304) M12X70mm A ke
Mkl b (SUS304) M16X70m M. ke .
maARJ - (SUS304) M10X75mn M. ke L 500
M:E) b (SU05304) M12X75mm A kg . 540
MR- - (SU5304) M16X75mm M. ke L B0
M)l b (SUS304) M1 2x 8 0mn M kg , 590
MmNk 4) M16X80m M. kg 1. 710
b (554003 M8 A./ks &5
4« b (58400} M1 M. ke 59
o b (55400} M1l2 M./ ke [E]
Fo b+ (55400) M14 M. ke 157
Fw b (5§5400) M16 M. ke 30
4o+ {35400) M18 ke 6
+w b (85400) M20 B./ke 35
Fw b (85400) M22 ke 141
Fw b ($5400) M24 M. ke 1
F b (85400) M3D0 M. kg I
S b (55400 M3 6 A ke 208
+w b (55400 M4 2 M.~ ke 277
Fw b (55400) M4 8 M. kg 208
b (SHS304) M 8 M. ke 173
Fw b (575304) M10 ke 929
+w b (SUS304) M12 A ke 1. 000}
+ b (S05304) M14 H./ke 1, 293
+w b (505304) M186 M.k 331
-+ + (508304) M18 M/ ke I 273
F ok (505304) M20 M.~ ke [T]
+ b (51U8304) MZ22 B ke 44
+w b _{5U5304) M24 M. ke .38
3w b (815304) M27 [ ke . 387
F b (ST8304) M3 0 M.7kg 1, 385

ki1 BEEARER fR.xls 10/14

163



(B4 - 5

164

FY R [Pyr) — L3 e
F v b (SUS304) M36 A ke 1, 468
= b (808304) M4 2 B ke 1, 43_84
#H+w b (55400} MB M. ke 335
#dw (85400} M10 [.-ke 298
4w I (35400 M12 B ke 307
#tw bk (55400) M14 M. ke 475
FHw k(85400 M16 . ke 364
£+ b (55400 M2 0 M. ke 466
#HF v (§5400) M22 B ks 4
5w bk (55400) M24 M. ke §
£ b (55400 M27 M/ ks 7
&4« b (505304) M8 M. ks 2 284
¥ w b (S05304) M10 A kg . 258
45w - (S05304) M12 M. ke , 240
¥ - (S05304) M14 M, ke . 867
3y b (508304) M16 M. ke 2. 478
5w b (SUS304) M20 A/ kg 2. 655
455 b (SUS304) M24 M. ke 2, 600
J )L b (554000 M12X160mm M. ke 93
1 IR b (55400 M16X16 0o M. ke 210
J ReRERAL B (854003 M12X200mm A/kg 61
1 EEREI - (55400) M16%200mm M. ke 89
J R )L B (85400) M20X200m M. ke 15
IR )L b (S5400) M12%x250m M. ke 266
T RE#EAIL - (35400) M16X250m B ke b
J EERAL b (35400) M20X250mm M. ke
JERADL b (85400) MIZ2X315m H/ke b
J JEEREAUL I (S5400) Mi6x315m M. ke 166
J EREE)L b (S5400) M20%315m M. ke 190
JRERFL T (35400) M12X400mn [/ ke 230
J BEEADL b (55400) MIiG6X400m M./ ke 160
BRI (58400) M20X400m M. ke 78
J REERAUL M (53400) M12X500m [H/ke 20} -
JREREAIL L (S5400) M16X500m B/ ke 52
J BERAL - (55400) M20%x500m m. ke 1
JEBEEERI b (55400) M24X%X50 0 M. ke 1
I ER AN F_(55400) M20X630m B ke 169
1 Lk (5540D) M24X630m M. ke 171
Y B EE AL - (55400) M20xX800m B/ ke 160
J BRI+ (554000 M24%X800m M./kg 162
kk1GHEHEER I xS 11/14
{845 : M}
Py w5 7y — 33 W%
J REEAIL L (55400) M20X1, 000mm A./kg 157
JEARA)L R (53400) M24x1, 000 M.k 154
T EAEAUL - (55400) M24x1, 250m M ke 56
LR b (55400) M12X160m M/ ke 3
LEERRN R (55400) M12X200mm M./ ke 1
LRIV - (85400) MI1BX200mn M. ke 9
L gA@AULE (55400) M12%X250m A ke 266
| LEERAIL b (554000 M18X250m M. ke 75

L EE#R)L b (55400) Ml2xX315mm A./ke 53
L EERFR)N) b (§5400) M16X315m B/ke 66
LRI I~ (55400) M20x315m A.~ke 0l
L BRIl b (854000 M12X40 0 M./ke 0l
LERRL T (55400) M16X400mm A ke 1]
LEEA)L b (55400) M20X400m M. ke f|
LEEBAENL b (55400) M12X500m B/ke 220
LEERFIL b (55400) MI16XS5S00an M. ke 152
Li;?é%zﬁ} _(55400) M20X500m M./ ke 169
2 . .
Fo—5—1i0~120 BRERHAS  $C450 B/ ke 567
[l v v BB, SC450 M. kg 567
PEFEY— (F—AfD) iR EMEEML  SC450 B/ ke 567
FO—3—d110~120 BT MRS SCHn2B ./ ke B51
FoO—5—d1i0~120 A uamsE RS  SCMnCr3B M./ ks 748
Fo—5—ad1i0~180 YoAR)?” TR  SCCIM3R M. ke 55
ATSA B AFI D AHEH#EY  PEC2 M. kg 2,100
B2 A7) - BIE A S ) s sHEY LBC3 B/ ks 1, 750
B2 A S ) - BIEAZ ) FEEY BC 3 M. ke 1, 780
HEAEEBIES. HE 28R FC200 M. ke A8
RE AT 268 FC250 M. ke 48
[ R AaESS  FC250 M. ke 48
BER &R AR MEE S FCD450 Mkg 381
FRT Rdadeks (448)  FCI60 [1./ks 542
75w hafstd (48) FC50 PA 509
P (HbE > T T AdskD (45) FC250 M. ke 682
ob B BACEREES (18 FC0400 - 450 [ kg 798
FERZ REHERS  SC450 M. ke 2§90
Ay FUY _|EeEmBEImAL  SC450 M.ke 1, 140
LW T CRIEK A- e WY - Fody [RIEH 61137 M. m3] 14D 000

L. S . AR, R T RBUGEOHET B

L LEioERESELEESL. SAROMERmEET S,

3. ABHOBEHIINIET D,

k16K ER s 12/14



(Bidifi - F1)

BE R KR e o
3) AT L AHHR - =R
| BE (GAED EEIANBE A g [S05304 1=t =3 /|
| ¥pRT (R EEMEAFWVAMAR A~ ~afte [S0S304 3<Tt 56 /
i (AR EIEAS VA 1iales |S0S30d Gt =14 10 v % 3t =5
i (M) EIEIT/ AR kst |80 <t =25 20 v -2 <t =6
it () FEIEAr AR S} 1505304 25<Ct =40 30 -l 3t =h
VaRD (BAMR) EIEAT VIR %} [SUS304  40<C t =6 40 A - 3L =6
AFLARE N Mg 5304 5= =100 /
AFLARME A 4_ 1< o=150 20 N -1 S S100
A5 ZEE 35 E S<C b =200 30 -3 BE¢S100
ATl 28E N -H SUS403 5= =100 480
AT LW Il 5403 100< b =150 0 N -3 15 4=100
AT L ZME A $403 150<C & =200 0 K -3 5= ¢ =100
BREERZEEERY ~ -EE 5C~S500 255 & <100 /
BREEAEERAY  ihaE S15C~~850C 100 =150 2 A -3 b= g=100
RREERNRERRAN  132b58  [SI5C~S50C 150 ¢ =200 4 N -% 5= =100
BRSSP EREY 1R S150~ 5I)C 00<C & =250 A -3 5= =100
mﬁiﬁiﬁiﬁmiﬂﬂﬁ 1327 $15C~55 250<C b =300 5 A -7 M= H=100
1. HAR— AEBCR . B ?fETEL.Tébl_L:t RO AT S v JEN A ET D &,
2, (2)03 rﬁ%#ﬂﬁmmsusm OEBIZ DB TIRAEY ¢ 00T T, BEHENERSL O DT
(3) TRt S A BN S150~5500) D REFEET S,
(4) kEBIA
KEIL (PIEE) 2048 kg L 250
kT (P 20~50 kg 250
_7)(%3‘.:_\ (PIEZ) 50~70 kg , 250
| KEIL (PF) 205k35 kg . 250
KETL_(PHE) 24~50 ke , 250
KETL (PIE) 56~70 kg 250
KETA (LIB) e kg . 250
KETL (L) 0~50 kg . 250
KETA (L] 0~70 kg , 260
[ KETL CEB tﬂ:ﬁ kg 150
KED L CEE) [ ke 3. 50
23] Rk N Y T Fna{tﬂ‘*'ﬁ&‘:%,
I BE:fEITL (JOoFL—>
9. BEEE : }4. TN, mn? (150ks./cmd) I;LJ:
3 Wk ERERTEALK
4, FEWEEEOMIL : 300% Lk
b, ¥BHEE: 3 a FHEAD~E0
6. Ek® ;1 ihg.cmd
(5) Ryl (ERkda)
ka1 6HEHEER s 13714
(B - P9}
& Hig TATH £
N> (BRITL) 1600 104 04 3,730
Nod> (FETL) 600 by~ 204K B & 430
REE T =IN) 700 e M. 4 230
N (BRTh} 700 by~ 2042 M/ 8 , 300
Ny (BEdh) Bon e M # L 920
HyFdr (FRIL) 300 b~ 2042 A/ L 200
Ny Fse (BREdh) 500 B A A/ % , 000
Nkl (BERAL) 000 10#~208L M./ # , 110
Ry ¥ (BRI 1,000 10#HRE M./ # 910
NodF (EFEIL) 000 b~ 204 SRS .DDDI
Ry Fr (BRI 00 104k M./ . 800
R (BEIA) 00 1042~ 20#c B 010
Mk (GRTA) 1, 200 W R B/ i
N Fd > (SEIAL) 200 Hr~ 208 [/ , B0
Rwd s (Grdh) 350 10Hr ki M. B .90
NwE (EkdL) 350 10%k~208 M8 , 600
NwEl (L) 1, 50 ] M/ % 14, 400
N (ElETIL) 50 4~ 208 P4 3. 580
N> (BEIN) . B0 b A il ./ 5, 600
NwE (GRIL) L 600 1048 ~20% M4 4. 400
Fuds (BROAY 1, 650 1042354 M4 00
Nowdey (BEIL) LGB0 104~ 204K G I3 o
BN =) _B00 104 58 B % [Il1}
N F i (FEETL) 800 108~ 204 N./# i1}
Ny (ERIA) 000 LDECHR A/ 00
A (BT 2,000 L0E~20# B8 . 800
Mo (ERTL) 1, 800% 2, 600 [0#CE 5 A8 , 300
N F (FETA) L 800X 2 600 104~ 208 M. 910
Aud s (EFfRdh) 0002, 800 10806 P/ , 800
Ny (EEIN) 0002 800 10#~320i M./ # 11, 700

kk1GEEERER . xls 14/14





